Tableaux des Puissances de Dix (H)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,001 0,0001 0,01 0,1
18 0,018 0,0018 0,18 1,8
81 0,081 0,0081 0,81 8,1
2 0,002 0,0002 0,02 0,2
8 0,008 0,0008 0,08 0,8
35 0,035 0,0035 0,35 3,5
X 0,001 0,0001 0,01 0,1
44 0,044 0,0044 0,44 4,4
94 0,094 0,0094 0,94 9,4
95 0,095 0,0095 0,95 9,5
80 0,08 0,008 0,8 8
96 0,096 0,0096 0,96 9,6
X 0,1 0,001 0,01 0,0001
70 7 0,07 0,7 0,007
91 9,1 0,091 0,91 0,0091
5 0,5 0,005 0,05 0,0005
37 3,7 0,037 0,37 0,0037
96 9,6 0,096 0,96 0,0096
X 0,1 0,001 0,01 0,0001
22 2,2 0,022 0,22 0,0022
70 7 0,07 0,7 0,007
92 9,2 0,092 0,92 0,0092
78 7,8 0,078 0,78 0,0078
72 7,2 0,072 0,72 0,0072
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